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The Superposition Principle Math 
Help 

𝐹 = 𝐾
𝑞𝐴𝑞𝐵
𝑟2

 

There are 3 point charges that lie along the x-axis of a line. They are at x = 0m (q1), x = 3 cm (q2), 
and x = 5 cm (q3). Find the magnitude of the resulting force on q3.  

q1 = 6 x 10-9 C q2 = 1.5 x 10-9 C  q3 = -2 x 10-9 C 
𝐹 = 𝐾

𝑞𝐴𝑞𝐵
𝑟2

 

Givens: 
r1,2 = 0.03 m 
r1,3 = 0.05 m 
r3,2 = 0.02 m 
q1 = 6 x 10-9 C 
q2 = 1.5 x 10-9 C  
q3 = -2 x 10-9 C 
KC = 8.99 x 109 N*m2/C2 
F3, total = ______________ 

3 cm 

5 cm 

q1 q2 q3 
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There are 3 charges at the corners of a triangle. Find the magnitude of the 
resulting force on q3. (See diagram below) 

q1 = 6 x 10-9 C   q2 = -2 x 10-9 C   q3 = 5 x 10-9 C 
𝐹 = 𝐾

𝑞𝐴𝑞𝐵
𝑟2

 

Givens: 
r1,2 = 3 meters 
r1,3 = 5 meters 
r3,2 = 4 meters 
q1 = 6 x 10-9 C 
q2 = -2 x 10-9 C 
q3 = 5 x 10-9 C 
KC = 8.99 x 109 N*m2/C2 
F3, total = ______________ 

q1 

q2 
q3 

3 m 

4 m 

5 m 53 ⁰ 

There are 4 point charges that lie at the corners of a 15 cm square. (See diagram) Find 
the magnitude of the resulting force on q1.  

q1 = 3 x 10-6 C  q2 = -6 x 10-6 C  q3 = -2.4 x 10-6 C q4 = -9 x 10-6 C 

 

𝐹 = 𝐾
𝑞𝐴𝑞𝐵
𝑟2

 

q1 
q2 

q3 q4 

Givens: 
r1,2 = 0.15 meters 
r1,3 = 0.15 meters 
r1,4 = 0.21 meters 
q1 = 3 x 10-6 C 
q2 = -6 x 10-6 C 
q3 = -2.4 x 10-6 C 
q4 = -9 x 10-6 C 
KC = 8.99 x 109 N*m2/C2 
F1, total = ______________ 

 


